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PAPER 2 - FOUNDATION TIER

2015 November Paper 2 (Calculator allowed) Marks FINAL MARK SCHEME
Foundation Tier Comments
1. (a) (148.20)
30.12 (paste) Bl
49.92 (e paint) Bl
58.16 (g paint) Bl
(£) 286.4(0) Bl F.T. their figures
(b) 10% =28.64 3% =14.32 OR (0).05 x 286.4(0) M1 For any cotrect method for finding 5%
Discount = (£) 14.32 Al F.T. 'their total’. Ignore extra decimal places.
He pays (£)272.08 Al F.T. 'their total - their discount'
Alternative:
0.95 % their 286.4(0) M2
He pays (£)272.08 Al
(c) Cost=(£)1.56 +(£)2.86 | OR (£)6 — (£)1.56 M1 MO0, A0 if coffee used instead of tea, but B is possible.
+98(p) - (£)2.86 — (£ 0).98
= (£)5.4(0) Al F.T. 'their £5.40", but BO if more than £6
Change = 60(p) OR (£0).6(0) Bl Accept £(0).60p
10 B0 for (0).60p. Unsupported (0).60p gets M0,A0,B0
2. (a)
Height 20m 2mm 2cm B1
Weight 3g 3mg 30 kg Bl
Volume 3litres  30cm’ 30ml Bl
Area 12cm®  12mm? 12cm® BI
(b) Circle radius 6cm + 2mm Bl Continuous line that is drawn with a pair of compasses or
good attempt free hand.
Diameter drawn ‘@’ @ Bl FT their circle (including free hand circles)
Mark intention to draw through the centre £ 2mm
Too long No labels Unambiguous line
BO BO
If right hand diagram is labelled correctly e.g.
diameter and/or radius OR 12c¢m and /or 6cm then Bl
6
3. Isosceles triangle D Bl
L7
Parallelogram O B1
N
Pentagon @ B1
Cylinder \\i O Bl
0 s
4. (a) Evidence of square counting M1
67-73 Al Inclusive.
335365 Bl Inclusive. F.T. ‘their 67 — 73" x5
Unsupported answers in the range 335 — 365 getall 3
marks.
Condone square notation, e.g. 70°, but 70° = 4900 gets A0
(b) Lines Bl For all 3 lines.
Curve B1 F.T. their lines, must have opposite curvature, start at the
correct place and end at the start of their top line.
5
10
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2015 November Paper 2 (Calculator allowed) Marks FINAL MARK SCHEME
Foundation Tier Comments
5. Condone notation such as .02p for 2p, .20p for 20p etc OR
Must give 6 coins and get one back in change S1 Attempt at trialling to pay total coins >£1.78 & state change
Total of coins = £2.94 OR 294p Bl 2nd trial total coins >£1.78 & state correct change
(Spent = £ 1.78 OR 178p)
Coins = £1, 50p. 20p. 5p. 2p.2p (Change of 1p) Bl Coins = £1, 50p, 20p, Sp. 2p, 2p (Change of 1p)
OR B1 for Amount left=£1.16 OR £1.14 + 2p change
Coins=£1. 10p, 5p. 1p Bl Coins =£1, 10p, 5p, 1p
Allow the use of a coin to pay that is then given back in
change: e.g. 7 coins £1, S0p, 20p, Sp, Sp, 2p and 2p which A correct solution is awarded B4
amounts to £1.84 and then gives the change as 1p and 5p.
Look for (in the most part) QWC
2
Strand 1: For 1 mark QWC?2 Presents relevant material in a coherent and logical
Candidates will be expected to manner, using acceptable mathematical form, and with few
= present their response in a structured way if any errors in spelling, punctuation and grammar.
« explain to the reader what they are doing at each step of
their response QWCI Presents relevant material in a coherent and logical
« lay out their explanations and working in a way that is manner but with some errors in use of mathematical form,
clear and logical spelling, punctuation or grammar.
= write a conclusion that draws together their results and OR
explains what their answer means Evident weaknesses in organisation of material but using
acceptable mathematical form, with few if any errors in
Strand 2: For 1 mark spelling, punctuation and grammar.
Candidates will be expected to
» show all their working QWCO0 Evident weaknesses in organisation of material, and
 make few, if any, errors in spelling, punctuation and errors in use of mathematical form, spelling.
grammar
e use correct mathematical form in their working
* use appropriate terminology, units, etc
6
6. (a) % 45 56 61 74 77 87 110 Ml For idc?ntifying the correc?t TWO rr_liddle numbers: OR for
—_— arranging the 8 numbers in ascending or descending order.
Median = (135/2) = 67.5 (cm) Al C.AO.
Unsupported 67.5 gets M1, Al.
(b) Sum of the numbers (546) M1 For attempt to add all the numbers
Sum/8 Ml For dividing a number in the range 436 to 656 by 8.
Mean = 68.25 (cm) LS.W. Al C.A.O.
(c) (Range =) 74 (cm) Bl
6
7 In part (a) if acceptable answer seen award the mark
and ignore other answers,
(a) (i) Subtract 12 from the previous term B1 Accept subtract 12, —12, 'goes down in 12s', etc
BO for n—12, OR ~12n+ 110
(ii) Multiply previous term by 5 BI1 Accept x5 etc
B0 for nx5 or 5n
(b) (i) L2(0) Bl
(ii) 140.6(08) I.S.W. Bl
(c) (0).09 Bl
(d) 1000/68 OR 10/0.68 OR 14.(705...) Mi OR 14 notebooks cost (£)9.52, 15 cost (£)10.20 (therefore)
He can buy 14 notebooks . Al 14 OR use of 70px14 gets MLAL.
Change =1000 - 14x68 =48p OR (£0).48 Bl | E.T. 1000 — 'their 14'x68. BO for .48p.
(e) 4 x 63 MI Changing 4/9 to decimals or percentages will lead to
9 approximations and not to 28. This gets M1.AQ
=28 Al
10
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2015 November Paper 2 (Calculator allowed) Marks FINAL MARK SCHEME
Foundation Tier Comments
8.(a) 2a-b B2 Mark final answer. Must be an expression.
B1 for either term, 2a or -b OR 2a + (-b)
(b) 12 B2 Final answer must be 12 for the B2.
B1 for 'Add 7 to get 48' followed by
B1 for 'Divide by 4 to get 12"
Accept embedded answers.
(c) Sightof' 380 or 260 | Sight of (1 ap + 1 pr weighs) Bl For either reading from the scales
260 (g) OR
Sight of (2 ap + 1 pr weighs)
380 ()
1 apple weighs 2 ap+ 2 pr weigh 520 (g) M1 F.T. their reading provided ‘their 260’ is between 200 and
380 — 260 (= 120(g)) 300 exclusive, AND ‘their 380" is between 300 and 400
exclusive
1 pear weighs 260 — 120 | 1 pear weighs 520 — 380 ml Follow through 'their values for 380, 260 and 320’
= 140 (g) = 140 (g) Al | C.AO.
A correct solution is awarded all 4 marks
8
9. (a) a 1278 Bl C.A.0.
b 23643 Bl F.T. ‘theira’ * 0.185
¢ 11.82(15) Bl F.T. ‘theirb’ = 0.05
d  24825(15) Bl F.T. ‘their b’ + ‘their ¢’
(12.46)
e 260.71(15) Bl F.T. ‘theird’ + 12.46
(b) 260.71(15) /3 M1 F.T. ‘their e’/3
= (£)86.90 Al
7
10.(a) (£)660 Bl
(b) (£)120 BI
(c) Reasonable straight line of best fit Bl Some points above and some points below.
Do not accept if clearly joining (4, 120) and (0, 660) or
corner to corner of the graph paper
(d) Negative (correlation) Bl
(e) FT from a ‘line of best fit’ (reading accurate to small Bl OR B1 for an answer between (£)260 and (£)320 inclusive
square) (curved line or straight line, not dot-to-dot) only if no line of best fit or if BO awarded in part (c)
Reading accurate to gridline if within a small square, if
shown to be on a gridline reading should be accurate
H1 5
12
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2015 November Paper 2 (Calculator allowed) Marks FINAL MARK SCHEME
Foundation Tier Comments
11.(a) S1 For any strategy that attempts to derive the sample space.
113 516
112 1] 4 6 | 7
31416 8§ 19
516 8 10 | 11 B2 Accuracy of entries. Bl for any 6 correct entries
6 1719 11|12
OR Candidates can get all 4 marks for an explanation that
clearly shows that there are more sample entries that are
: ]15 ]33 ]53 g even than odd. (as in the example given in the
conference
3 |E|E E |O conference)
5 |E|E E |O
6 |O|]O |0 |E
Stephen is more likely to win because EVEN wins 10 times, El Correct deduction.
ODD wins 6 times (out of 16) F.T. only if at least 13 entries (not all necessarily correct)
OR Probabilities : EVEN 10/16 or 5/8 ODD 6/16 or 3/8
11. (b)
112 416 Bl Bl for any 6 correct entries
1123 517
21314 5|8 Candidates can get both marks for an explanation that
41516 8 110 clearly shows that there are more sample entries that are
6 17 |8 10 | 12 even than odd. (as in the example given in the
conference)
EVEN wins 10 times, ODD wins 6 times (out of 16) so
game is not fair El Correct deduction.
F.T. only if at least 13 entries (not all necessarily correct)
(c) (Drawing this table is not required. but can be either
of the two types shown in part (a).)
0|0 |E |E
OlE |E O |0
O|E |E 010
E[O|O |E |E
E;O]|O E | E
(i) Choice ot any two even with any two odd numbers Bl
(ii) Rule stated, e.g. *2 even and 2 odd (numbers)’ El E.T. from (i)
8
12. Use overlay
(a) Scale factor 2 enlargement Bl In the correct orientation
(Intention of the) Correct position BI1 (Watch for the position of the bottom left vertex of a
(b) Correct rotation about (1, 2) B2 rectangle)
B1 for rotation of 180° about (2, 1)
H3 4
13.(a) 350 = 192.45 MI
67357.5(0) (Icelandic krona) Al Incorrect units get AQ
(b) 2608.32 + 100.32 Ml
(£) 26 Al
(c) Use of 53.67 rubles = 192.45 krona, e.g. sight of B1 Candidates need to show an attempt at a calculation using
192.45+53.67 (=3.585...) or 53.67+192.45 (= 0.278...) 53.67 and 192.45. Do not accept if rupees are also
OR 100 rubles = (£) 100+53.67 (=£ 1.86(32)) inappropriately included.
OR | ruble = (£) 1/53.67 (=£0.0186...) Accept sight of unsupported 3.58... , 3.6, 0.27... or 0.28,
OR (£)1.86(32)
1 ruble = 192.45+53.67 (=3.585...) krona, or work with MI Must be a method that could lead to a correct response if all
proportion or ratio as a stage towards unitary equivalence calculations were to be correctly evaluated
OR 192.45 x (£)1.86(32) or 192.45 x 100+53.67 FT ‘their incorrectly evaluated 100+53.67
(100 rubles) Answers in the range 357.6 to 360) (krona) Al Unsupported answers in the range 357.6 to 360 (krona)
get BIMIAI
HS 7
13
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14.(a)

(Rowena’s car depreciated value) (£)3500 x 0.76°

(£)1536(.416)

(Dafydd needs to save a total of £1536(.416) - £100)
(£)1436(.416)

(Dafydd needs to save, per month £) 1436(.416) + 36

(£) 40

(b) Conclusion stated or implied with a suitable reason, e.g.
‘yes, because he might get interest on his money so have
more than he needs’, or ‘no, because Rowena only estimated
the value (and the car could be worth more)’, ‘don’t know
because Rowena may decide to sell it for more or less
than its value after depreciation’

H8

M2

Al

Bl

Ml

A2

El

If an error is made with 1 — 0.24 or equivalent, i.e. working
with e.g. uniquely 0.66 or 0.86, penalise -1 once only

M1 for 3500 x 0.76 or 3500 - 3500x0.24 or 2660, or allow
M1 for 3500 - 3500x0.24°, or

M1 for simple depreciation 3500 - 3x840 (= £980)

M1 for appreciation 3500 % 1.24

CAQ, but accept 1540 from correct working or a value
rounding to (£)1536

FT “their 1536’ — 100 evaluated correctly provided at least
M1 awarded

If no marks so far due to working with £3400, then award
SC3 for (£)1492.51(84) or (£)1492.52 , or

SC2 for 3400 % 0.76°, or

SC1 for sight of 3400 % 0.76 or 3400 - 3400x0.24 or allow
for sight of 3400 - 3400%0.24° or 3400 - 3x816 (=952)

FT ‘their 1436(.416)" ~ 36, i.e. what they think the car is
now worth, but do not FT for 3500+ 36 or 3400+ 36
Note:

£1536(.416) ~ 36 — (£)100 + 36 is equivalent to B1, M1

Al for (£)39.88... to (£)39.90(00...)

FT for A2 provided rounding is necessary, otherwise
maximum of FT Al only. When rounding is necessary,
accept rounding up or down to the nearest pound if number
of pence is <50

An answer of (£)43 is from (£)1536(.416) + 36 evaluated
correctly with answer to the nearest £, this is awarded M2,
Al, BO, then FT M1 and A2 (or Al for (£)42.6(....) or
(£)42.70

'Trial and improvement’ method leading to (£)40 gets full
marks

Do not accept contradictions given in the response, unless
the candidate is clearly discussing uncertainty.

Accept ‘don’t know”’ or ‘unsure’ within a reasoned
answer.

Candidates need to express uncertainty of depreciation
or relate to a rounding of their answer for Dafvdd’s
saving plan

Accept ‘ves, as Rowena’s car could depreciate more than
24% (a year)’

Accept ‘no’ or ‘ves’ as appropriate with ‘Dafydd’s
saving is rounded to the nearest pound’ (ves if rounding
was up in (a), no if rounding was down in (a)) or with
calculations to show there is less/more in his account
than what he thinks he needs, or reverse working to
show amount saved X 36 < or > depreciated value.

Do not accept the statement ‘I think the amount Dafydd

is saving each month will be enough to buy the car’
without a valid reason or calculation(s)

© WJEC CBAC Ltd
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15.(a) 10y’ — 15y B2 | Must be as an expression. Mark final answer.
B1 for either term correct OR 10y° +(-15y)
(b) 20h° Bl
(c) 3<n< 6% OR 3<n< 13/2 Ml
OR n>3 with n<6%
n= 4,5,6 A2 Al for all 3 with at most 1 error OR any 2 correct and no
errors
If no marks, award SC2 for sight of any 2 correct answers
with no incorrect answer
If no marks, award SC1 for sight of any 1 correct answer
with no incorrect answer
Accept embedded answers
H7be 6
15
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